Blue-winged teal Bursa Virus Titer MLR model supporting material

Global Model: Bursa Titer =1+ factor(Sex) + mass + age + BCS + factor(group) +

Bursa

Initial Model: Bursa Titer = 1+ BCS + mass + factor(group)

Residual Plots for initial multiple linear regression model Blue-winged teal Bursa Titer.

Fitted values

Leverage
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Final Model: Bursa Titer = 1+ BCS + factor(group)

STEP MODEL AIC AAIC
NA | Global 2.14 NA
1 | Global - Sex 0.15 2.00
2  Step1-Bursa -1.60 1.75
MANUAL | Step 2 - mass -0.25 -1.35
Y N R? X EST. (95% Cl) P
LOG10(EID50/ML)
TEAL BURSA TITER 32 0.37 | Intercept 7.52 (4.921t0 10.11) <0.001
BCS -0.38 (-1.01 to0 0.24) 0.220
group (T3) -1.04 (-1.95 t0 -0.13) 0.027
group (T5) -1.96 (-2.83 t0 -1.08) <0.001

Y = dependent variable, N = number of individual birds in model, X = independent variables in

final model, Cl = 95% confidence interval, p = p-value. BCS = Body Condition Score. Group

was treated as a factor and group T1 is represented in the intercept.

Residual Plots for final multiple linear regression model Blue-winged teal Bursa Titer.

Residuals vs Fitted Normal Q-Q
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